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a) Th
b) it can be shown that forT=1,¢(Zeta)=0.25 and T=4. 36 sec. Calculate ¢ ( Zeta ) and twhen T =0
sec (continuous that is), 0.2 sec. Discuss effect of T on system Parameters. Hence find Percent Overshoot
and Settling Time T..

Q.2 Consider the control system shoh in Fig Q.2. The System g are to control the effect of

disturbance and steady state err@fdue to a Ramp input.
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state errOr due to a ramp input, andd:he

sandue to step disturbance.
(a) Wlth.dj'(Z) K, + K, Tz/(z-1). Discuss the é{fec

adding such controller.

a) Let D(z) = K,, find the ste
b) Repeat the calculatios

Q.3 Consideff@ Sampled data system with Gp(s) =0.8/(3s+1), preceeded by a"‘Z.O.H. and@sampling

interval i
/ |
a) Fimd the range of samplin’g time T for stability; using Jury’s method. f
b) using D(z) =K, T =0.5. P‘,:fot the Root Locus in Z-Plane, Find the range of gaii‘n K for stable systemttom
RLPlot. { /
c) Fo imptove system performance a Lead Compensator is added, with a TF:
Gc(8) = Kc (s+a)/(s+b)" witha=0.5,b=5 i o

Plotthe Root Locu’é and find the gain K¢ so that the desired pole |sa't S = -8 0.

Find'B(z) using I\ﬁPZ method with T = 0.5 sec.

d) Plot®he Root Locus for the system with the conf'roller found in éo
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Fig Q.2.
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C) GC'CS)'— Kc(5+a) a = + , b=5
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